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A rnaj or issue with retirement planning for some
people is the way the Centrelink assets test penalises

people who have saved more.

Only 44% of
Australians who
have reached their
Age Pension age,

receive the full
Age Pension.

A further 20% receive a part pension -
where the amount of income they receive
varies over time depending on how much
their assessable assets/incomes exceeds a
particular threshold.

he remainder (36%) either haven't claimed
the Age Pension, don’t meet other eligibility
criteria (such as residency rules) or because
their assets or incomes are so high that the
amount payable cuts out completely.
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This makes planning difficult.

The good news is that for some retirement
products, only 60% of their value counts
toward the means tests.

Knowing these rules can potentially help to
secure a higher and more stable income
from the Age Pension.


https://www.superguide.com.au/in-retirement/age-pension-asset-test-thresholds

. To understand what the total assessable
\‘K/ ho gets lmpaCted assets figure looks like for typical retiree,
ABS statistics show the average
b o ? household in the age 65-74 group has net
y mecans teStlng . assets of $1.05 million plus the value of their
home, if they own one. But averages can be
misleading as a small number of very

The assets test threshold, above which a :
wealthy people can push the figures up

retiree starts to get a reduced Age Pension, is anifi
significantly.

$451,500 for couples who own their own home

($301,750 for singles). The value of their home

The median super balance (that is, half of
doesn’t count towards this figure.

people are above and half are below) for
males aged 60 to 64 is around $212,000
and for females it's $159,000. The median
household in this group has net worth of
$927,000 including the home, if they own
one.

For non-homeowners, the assets test threshold
is $693,500 for couples and $543,750 for
singles. These figures are as of February
2024. An income test also applies.

Most people also enter retirement as couples, Tiese s are exmeeied o res rply o

so they need to consider all of their combined : : .
each generation of retirees spends a higher

superannuation and savings when considering SeEariten @ el serees subies e

the means tests. The rules apply to each seralseT ST s s,

household’s combined total assets including

all super accounts (other than the In 2023, more than half of retirees who are

eseLLeion super belenee ©f @ yeungsr old enough received either a reduced Age

spouse), cash accounts, term deposits, shares . .
P ) ' P ! ' Pension due to means testing or no Age

IiEsine preperizs el persencl essei Pension. This is shown in the following chart.

such as cars and furniture.

Means Tested Age Pension
19.9%

Full Age Pension
44%

Australians on the Age Pension
In 2023 there were 4 million people

aged 67 and above.

Zero Age Pension
36.1%
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What is the
"Taper Trap’?

Under the assets test, each $1,000 of

assets above the thresholds means that

household’s Age Pension income is

reduced by $78 per year (7.8%). This is ST
called the ‘taper rate’. > ) \1 N9 N

It can be difficult to reliably earn an
investment return of 7.8% (net) per year in
retirement, which means that people
affected can lose more in Age Pension
than they earn on that extra money. This
issue is referred to as the ‘taper trap’.
Read more about the Taper Trap.

How can new
retirement

products help?

In the past, the only retirement product
offered by most super funds was an
account-based pension (ABP). With an
account-based pension, your super can

remain invested in your chosen investment
option(s) but you must make withdrawals
from that balance each year as your
retirement income.

With an account-based pension, the full
balance in the account is counted
towards the assets test for means-testing
purposes.

Fortunately, government policy is pushing
super funds to offer new products that
help with these issues - and several funds
and insurers have added ‘lifetime’ income
products to their retirement offering.
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https://www.superguide.com.au/retirement-planning/super-danger-caught-retirement-trap
https://www.superguide.com.au/in-retirement/minimum-pension-payments-reduced#What_is_an_account-based_pension

With a lifetime income product, you transfer

some of your super (or other savings) into a
product that instead pays a contractually
defined level of income to you for the rest
of your life (and for the life of your spouse if
you choose) - even if you live to age 100 or
more.

For customers who experience an untimely
death and the amount of income they have
received is less than their initial investment,
most lifetime income products can offer a
lump sum benefit which protects the
purchaser and their estate from losing the
initial investment.
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Previously referred to as annuities, rule
changes have opened up a much broader
range of products that pay lifetime

incomes. This includes investment-linked

annuities where the income payments are
guaranteed to continue for life but the level
of those payments varies over time to
reflect the performance of your chosen
investment option(s), which you can change
from time to time.

Find out which funds offer income for life.

Read more about annuities.


https://www.superguide.com.au/in-retirement/investment-linked-annuity
https://www.superguide.com.au/in-retirement/investment-linked-annuity
https://www.superguide.com.au/in-retirement/super-funds-income-for-life
https://www.superguide.com.au/in-retirement/annuities

How are lifetime

products treated
for the Age

Pension?

Only 60% of the purchase price of a lifetime
income product counts towards the assets test.
After age 84 (or a minimum of five years), only
30% of the purchase price counts.

Only 60% of the income paid from all lifetime

income product counts towards the income test.

This means lifetime income products can help
means-tested pensioners achieve higher, more
predictable and more stable income from the

Age Pension.

How do the

calculations
work?

The means-testing rules apply differently for
lifetime income products than they do for
account-based pensions, as follows. For ease
of understanding, we have omitted additional
detail that applies to rounding these figures.

In summary, there is an assets test - which
takes into account your assessable assets.
And an income test - which takes into account
your assessable Income.

The Age Pension you receive is the lower of
these two results.
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Assessable Assets

Excludes your own home you live in, but
includes financial investments (includes
cash, term deposits, managed investments,
shares, super balances), personal assets,
other real estate, the value of a business
and value of any annuities.

Assessable Income

Includes most types of income including

. . 1
employment earnings (subject to a ‘work
bonus’), commissions, rental income,
deemed income from financial investments,

income from a business interest, farm,

private company and royalties.

The full Age Pension for
a couple is $42,988 per
year and for singles it's

$28,514 per year (as at
February 2024).


https://www.superguide.com.au/in-retirement/age-pension-work-bonus
https://www.superguide.com.au/in-retirement/age-pension-work-bonus

Account-based pension

mean-testing formulas

Lifetime income product
means-testing formulas

The Age Pension payable is the lower of the assets
test result and the income test result, below.

Assessable asset value = 100% of the balance
Assessable income value = deemed amount™

* Deemed income is an assumed percentage of the
balance, as follows:

oFirst band**: 0.25% p.a.

oRemaining balance: 2.25%

** The first band for couples relates to amounts up
to $100,200 and for singles it’s $60,400

Assets Test Result:

Age pension under assets test
= Full Rate per year — (assessable assets value -

threshold) x 7.8%

Note that with an ABP, the balance may increase
for a few years but typically then declines over the
course of retirement as the balance gets drawn
down and can run out. This can result in a higher
assets test result as the superannuation balance
decreases.

Income Test Result:

Age pension under income test
= Full Rate per year — 50% x (Assessable income

value — threshold)

Note that the assessable income value reduces if che
balance reduces. This can result in a higher income
test result as the superannuation balance decreases.

The Age Pension payable is the lower of the assets
test result and the income test result, below.

Assessable asset value = 60% of the purchase price*
Assessable income value = 60% of the actual
income paid

* The percentage of purchase price gets reduced to
30% after age 84 (or a minimum of 5 years) - so less
counts toward means testing,.

Assets Test Result:

Age pension under assets test
= Full Rate per year - (assessable assets value —

threshold*) x 7.8%

The income test threshold for couples is currently
$9,360 per year and for singles it’s $5,304 per year.

Note that with a lifetime income stream, the
purchase price is fixed at the time of buying the
product.

This results in a steady assets test result over the
course of retirement — which improves when the
30% rate subsequently applies.

Income Test Result:

Age pension under Income Test
= Full Rate per year — 50% X (assessable income

value — threshold)

Note that the assessable income can increase faster
or slower than increases in the threshold over time
— depending on the product’s rules and investment
returns.

Hence it can be difficult to generalise about which test applies to different household’s situations over the

course of retirement. See the case studies below.
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To simplify the case studies, we have assumed in each case study that

there are no assets or income sources other than superannuation
balances and the Age Pension.

Case Study 1

Single 70-year-old homeowner with $450,000 in superannuation.

Currently, this retiree receives a reduced Age Pension because of the assets test. His assets above
the applicable threshold of $301,750 are multiplied by the taper rate (7.8%) and result in a reduction

in his Age Pension of $11,564 per year.

The full Age Pension calculations based on this account-based pension are as follows:

Actual assets

Account-based pension balance = $450,000

ASSCSSﬁblC assets fOI‘ asset test:

Assessable assets
= $450,000

Age pension under assets test
= $28,514 per year — ($450,000 - $301,750) X 7.8%
= $16,950

Actua] income from super:

Minimum drawings from account-based pension
= 5% X $400,000
= $20,000 per annum

Assessable income for income test:

Assessable income from ABP is ‘deemed’ to be:
oFirst $60,400 x 0.25%

Remaining $389,600 balance x 2.25%

=$8,917 per annum

Age pension under income test
= $28,514 per year — 50% X ($8,9I7 - $5,3o4)
= $26,707.50

Is assets test or income test lower? Assets Test (left hand column)

Age Pension payable = $16,950 per year

His combined income from super and the Age Pension = $20,000 + $16,950 = $36,950 per annum

x\mmv.optimumpensions.com.au



Single 70-year old homeowner who transfers $250,000 from his account-based
pension into a new investment-linked lifetime income stream.

If he switches $250,000 into the lifetime income product then this might him pay a starting
level of income of $15,500 per annum(1]. His Age Pension calculation would change
significantly.

The assets test (and taper rate trap) no longer impact him.The income test is the relevant one
instead, as follows:

Actual Income from super:
Actual assets -5% (min) x $200,000 from ABP
-Account-based pension balance = $200,000 -$15,500 pa from lifetime income product
Lifetime product (purchase price) = $250,000

Tortal = $25,500 per annum

Assets test: Income test:

Assessable income:

-Deemed income from ABP:

oFirst $60,400 x 0.25%, plus
oRemaining $139,600 balance x 2.25%
= $3,292, plus

-Lifetime product:

060% X $15,500

Tortal = $12,592

Assessable assets:

-ABP : $200,000, plus

-Lifetime product: 60% x $250,000
Total = $350,000

Age Pension under assets test
= $28,514 per year — (§350,000 - $301,750) X 7.8%
= $24,750.5

Age Pension under income test
= $28,514 per year — 50% x ($12,592 — $5,304)
= $24,870

Assets test or income test lower? Assets test (left hand column)

Age Pension payable = $24,751 per year

His combined income from super and the Age Pension = $25,500 + $24,751 = $50,251 per annum
That’s $13,301 higher than when his money was all in an account-based pension.

[1] Based on rates from Generation Life, using a 2.5% LifeBooster rate. Income increases each year at rate of investment
return less charges less 2.5%. A higher income that increases at a slower rate is possible using the 5% LifeBooster rate.
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https://www.superguide.com.au/in-retirement/investment-linked-annuity

To simplify the case studies, we have assumed in each case study that
there are no assets or income sources other than superannuation
balances and the Age Pension.

Case Study 2

A 72-year-old couple with $700,000 in superannuation.

Currently, this couple receive a reduced Age Pension because of the way the asset test applies to
their account-based pension. Their assets above the applicable threshold of $451,500 are multiplied
by the taper rate (7.8%) and result in a reduction from their Age Pension of $19,383 per year.

The full Age Pension calculations based on this account-based pension are as follows:

Actual income from super:
Actual assets

Minimum drawings from account-based pension
Account-based pension balance = $700,000 =5%X $7oo,000

= $35,000 per annum

Assessable assets for asset test: Assessable income for income test:
Assessable assets Assessable income from ABP is ‘deemed’ to be:
= $700,000 oFirst $100,200 x 0.25%
oRemaining $599,800 X 2.25%
= $13,746 per year
Age pension under assets test Age pension under income test
= $42,988 per year — ($700,000 - $451,500) x 7.8% = $42,988 per year — 50% x ($13,746 - $9,360)
= $23,605 =$40,795

Is assets test or income test lower? Assets test (Ieft hand column)
Age Pension payable = $23,605 per annum

Their combined income from super and the Age Pension = $35,000 + $23,605 = $58,605 per year.

Single 70-year old homeowner who transfers $250,000 from his account-based
pension into a new investment-linked lifetime income stream.

If he switches $250,000 into the lifetime income product then this might him pay a starting
level of income of $15,500 per annum(1]. His Age Pension calculation would change
significantly.

[1] Based on rates from Generation Life, using a 2.5% LifeBooster rate. Income increases each year at rate of investment
return less charges less 2.5%. A higher income that increases at a slower rate is possible using the 5% LifeBooster rate.
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https://www.superguide.com.au/in-retirement/investment-linked-annuity

72-year old homeowner couple who transfer $350,000 from their account-based
pensions into a new investment-linked lifetime income stream. They opt for a product

that continues to pay 65% of the income level if one spouse passes away]l].

If they switch $350,000 into the lifetime income product then this might then pay a starting
level of income of $22,500 per year[1]. His Age Pension calculation would then be:

Actual assets Actual income from super:
-Account-based pension balance = $350,000 -5% (min) x $350,000 from ABP

-Lifetime product (purchase price) = $350,000 -$22,500 pa from lifetime income product
Total = $700,000 Tortal = 40,000 per year

Income test:
Assets test:
Assessable income:

Assessable assets: -Deemed income from ABP:
-ABP : $350,000, plus o First $100,200 x 0.25%, plus
-Lifetime product: 60% x $350,000 o Remaining $249,800 x 2.25%
Total = §560,000 = $5,871, plus

-Lifetime product:
0 60% X $22,500

Age Pension under assets test Total = $19,371

= $42,988 per year —($560,000 - $451,500) x 7.8%

= $34,525 Age Pension under income test
= $42,988 per year — 50% X ($19,371 - $9,360)
= $37,982.50

Assets test or income test lower? Assets test (lefc hand column)
Age Pension payable = $34,525 per annum

Their combined income from super and the Age Pension = $40,000 + $34,525 = $74,525 per year
That's $15,920 higher than when their money was all in an account-based pension.

[1] The income level assumed is based on rates from Generation Life, using a 2.5% LifeBooster rate and a 65% reversionary
spouse’s pension. Income increases each year at rate of investment return less charges less 2.5%. A higher income that
increases at a slower rate is possible using the 5% LifeBooster rate.

[1] Ibid (ditto)

x\rww.optimumpensions.com.au


https://www.superguide.com.au/in-retirement/investment-linked-annuity

If we consider eight
different 70-year-old
couples, each with
different levels of
superannuation, the

impact of putting half

their balance into the
lifetime income product
can be seen in the table
below.Each couple own
their own home and have
no other assets or income.

100% in an account-based pension 50% in an account-based pension
50% in a lifetime income product

Super Balance

Income from Age Pension Total income Income from Age Pension Total income
super per year per year per year super per year per year per year
$200,000 $10,000 $42,988 $52,988 $11,000 $42,988 $53,988
$400,000 $20,000 $42,988 $62,988 $22,100 $42,793 $64,893

$600,000 $30,000 $31,405 $61,405 $33,100 $39,854 $72,954

$800,000 $40,000 $15,805 $55,805 $44,200 $28,285 $72,485

$1,000,000 $50,000 $2,241 $52,241 $55,200 $15,805 $71,005

$1,200,000 $60,000 $0 $60,000 $66,300 $3,325 $69,625

$1,400,000 $70,000 $0 $70,000 $77,300 $0 $77,300

$1,600,000 $80,000 $0 $80,000 $87,300 $0 $87,300
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The need for

projections

It's important to remember these figures are not
static over the course of retirement. The

level of income, the assessable asset value and
the assessable income from an accountbased
pension all change over time as the balance
moves in line with investment

performance and withdrawals made.

Likewise with the lifetime income product: the
level of income can change over time in
accordance with the product’s rules. This
impacts the assessable income value for means
testing purposes. (The assessable asset value is
based on the purchase price which is a

fixed amount).

It's therefore important to consider the time

dimension of these decisions.

Disclaimer and

Confidentiality

This document contains information that is CONFIDENTIAL AND
PROPRIETARY to Optimum Pensions Pty Ltd (Optimum) and is not to
be disclosed without prior written permission. Any dissemination,
distribution, copying, use of or reliance upon the confidential and

proprietary information contained herein is unauthorised and strictly
prohibited.

The contents of this document are subject to further discussion and
clarification and may be changed and amended as additional
information is obtained.

The document contains details and descriptions of the output from
a number of financial calculators. The information provided is
intended to describe the calculations concerned and the graphs
accompanying the material should not be used for the purpose of
making any financial decision. They are for illustration only.

All trademarks included within this document are acknowledged.

The bottom
line

You can see in the table above which is
based on the current rules and rates, by
allocating half their super to the lifetime
product the taper trap problem is greatly
reduced for these couples and their income
is increased, substantially in some cases.
The effect of the taper rate does persist
(mainly because of the account-based
pension product) but is greatly reduced.

As the calculations will be different for
everyone, and the projected amounts, bands
and thresholds change over time, we
recommend you seek financial advice
before determining the most appropriate
retirement income solution for your needs
and circumstances.
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Optimum Pensions was launched in 2017 with a
single mission - to help Australians lead a
comfortable retirement. The Optimum Pensions
innovative retirement income solutions are
specifically developed to address longevity risk and
provide greater peace of mind for all retirees; no
matter how long they live.

The Optimum Pensions, award-winning LifeSpan

Calculator builds confidence around personal life
expectancy and retirees’ possible retirement
planning horizon.




